4-462-066-01(1)

SONY.

Shoulder Adapter

BRGNS Istruzioni per I'uso
Operating Instructions ~ Manual de instrucciones
Mode d’emploi AR

Bedienungsanleitung

BELLEFVERESDHESTEVET,

A B RRDHDFBEEETSHENE. (FH7E UI2D . BlDymIcigs
LN B 523 ENBDET.

T DEUREIEAE (S BHER < e DEEFLFBEE LS BRDMOBNNTZERL

ToHhFT., CORBHPEE L BFHFDS X BREERL(CHEN TV, BE

HES B EF VWDTHESND ETAITHFREL T RE L,

VCT-FSA5
VA

© 2013 Sony Corporation Printed in Japan
4462066010

BE2EDI=WHIC

VI —RREREICHADICRBU TR SNTVET. L L. EBH oL
WeZTDEETEEICLDAFRRICDEN D CENBD . BRTT,
BHETZHITRDEZHBTHTD <L

* BEDHDERBIFETD.

o HIELEDBIBLIESEDLFIC,. VZ—DY—ERBOICIEHT .

EBLERTOELK ABE%RETRS

COBIESHAES LORRTIE RDESHE A‘

RELTVET, RRONEEL<EBRLTH %) \

SEXEBTFH S, ROz

ARERILTBES

CORTOARBEETSHENE EHICKD ®

[FHE Ulc D BDYRICIBERSZ DT D

TENBOET. #®it
TA%EIETT %5

it

eSS  TRosRETSHLL. FhiELRD B

= o
DYRIIBEESZBTELBOET,

WOFIFFELLITS
COBREAEZ K <HARLD A FERICEID T TSV, BD
MITTEERDENASHET L. DD ZETHIELHDET .
R
RIPUVN—DREHZERT D
ARZEAAXSICEER. RITDBATOVEVNDHESEL T EEL,
BATVNDENASHETL. DD ZT D ENHDET,
#r @150y RZIRD IS EE(E LIN—THERICHD TIEE L),
EATVWDEOY FHYRITCUITHZT D ENBDET,
EBED=M75vFAY NEFERTD
HBHEDED=M7 T v F A MM TY Z—RVCT-14. KTl
VCT-U14Z BN TEE 0,

il
HRLUNDHASZFER L
® NASHETF LI ZET BT ENBDET,

i
Ov FOMDMAIFICHIBZRELEVL S [TERT D

. @ 150v ROBMDFFPREDFRE. BXOL/\—THEDMITDE
TEFFEEHRFEVR I TRITERLTLIEE L.

EBOTAIC
ER

VCT-FSASIE. Y Z—8& A L O—5 — PMW-F55/F5ICEBID T T &ICKRD R
FROAXSORESZQ LEBDIcHDT I EHFU—CT, Klc. A EMBED
=BV 2 —ZEROMIFDIET ZHT Y v F AT BVCT-14/NVCT-UT4ND%
BOHREICEDERT,

HEOBHEME

Q ¢o150v R
Rw bRy IAR T4 O0—T 4 —HNADWDFHITTEET T,

0 =HVya—
A= 5 v F A MMTEDMIFDICDICHELRBR/ T,

O RI(+KM4x8)

O Ov ROvoUIN— (EG2ER)
@ 150w ROBDAIFPEROHAUICFERLET .
BOfFFdEEF. 0y ROvoU/N\—#OLTOY REEELFE T, L/—
PELICKWEEIF UN—Z5IEHUTHSBRIELPTVAIEXR CEERS
MU THEICRUFE D,

6 Oty MER2ER)
NADIN\Y RTUw THEDIERETT,

2

R

) %

2,

K\

0O *J(+BM3X8)

Q YalLy—/{y REERX)
BIFED OB/ (Y RICHEIDIBI TRETT . DR ITEICDONTIE. T
/Y REBBELV LTFORFTEANBELEDEEE0,

ALI=F—=~DOWMDFFh T
AEEDR I 7 H LAD—F—D=F25 mmzE/zlF50 mmbEw FdD1/4-20UNC
XINCEDE. RIEL>NDFEDHD (KED.

CHER

FRIFAFAEFRTLOD DD TLZE

ERTP IV FXY MAORDHIIHTE
SHP S v FAY NCRDMAIFZ 58I SHVY 1— X I CEEICEELE
EXG{CRIE
BOAS T NF v EBNIBETHANIRSEHT (EE-2).

ER7IYFAY MO SOBMbAULL
RS V8 UIEHS (@), L) \—EREDBENED LET (@) (EE).
NASEBROHN LI E IS SHPH v F A FOE Y BROMEICRSHS
Bl BI—E RS VR LSS L) (— ZREIDHNEH LT, B ZT0
BILRLET. EVhEoFFe. AXSOBDMIHTEEEAER-

D =BINDED FIH e

=BV 1 —ZER I THREICIDMHITE T,
=V 2 —ZI O MIFTRRE T RO =FINDEENTRETY .

FI5(LER

STk (18 B /BITE) #9130 X 33 X 250 mm

=1 #9920 g

=t BRERAAE (1) ZHVY 21— (2).
RU(HKMAX8) (4). T (+B M3%8) (2)

ARBIONRISTHURDIcHFEFLEEIT DI EDHDRIH CTELLES
Lo

o BEVICEDREIIC, A TEMFIEEZIT O CLEE V. HEZDMICHSESE
T ORAIBRESREEERD JORIERERBZICH DD ST MEEL
feUhREITDTTTAELIEEL,

o ARMZEFBA LI EICLDBRER RCFE=ED SOVNEDHFEKICD
WCTH SHEF—VDEEZEVNRE T,

o FEEEICLDAHNRICEHET DY —ERDEL AHICDOVT. —IDEEZ
BLHRFET,

Before operating the unit, please read this manual thoroughly and retain it for
future reference.

The VCT-FSAS5 is an accessory that attaches to SONY PMW-F55/F5 camcorders to
improve camera stability when shooting. It can also be attached to a VCT-14/
VCT-U14 tripod attachment by attaching the supplied tripod V shoe.

Name and function of parts

@ D15rods
Used to attach matte box, follow focus, and other accessories.

@ Tripod V shoe
Required components for attaching to a tripod attachment.

© Screws (+K M4 x 8)

O Rod lock levers (left and right)
Used when attaching or removing the ®15 rods.
Rotate the levers to lock them when attaching the rods. Whenever the levers
are in a position that makes them difficult to rotate, pull the levers out
sideways and turn them to a better position before pushing them back to
continuing rotating.

© Rosette mounts (left and right)
Attachment points for generic hand grips.

O Screws (+B M3 x 8)

@ Shoulder pad (fixed type)
Interchangeable with optional movable-type pad. For details about
replacement, consult your dealer at the point of purchase of the movable-
type pad.

Attaching to a camcorder

Align the shoulder adapter screws with the 25 mm (1 inch) or 50 mm (2 inches)
pitch, 1/4-20UNC tripod receptacles on the camcorder, then tighten securely

(Figure ).

Tighten the two screws securely.

Attaching to the tripod attachment

If mounting a camera on the tripod attachment, secure the tripod V shoe to the
bottom surface using the screws (Figure [8-1).
Slide the camera forward along the groove until it clicks into place (Figure [§-2).

Detaching from the tripod attachment

Press and hold the red button (D), then slide the lever in the direction of the
arrow (@) (Figure [3).

If the pin on the tripod attachment does not return to its original position after
detaching the camera, press and hold the button again and slide the lever in the
direction of the arrow to return the pin to its original position. The camera
cannot be mounted if the pin remains exposed (Figure [H).

Attaching to a commercial tripod

Attach the tripod V shoe to the unit using the screws.
The camera can be mounted on a commercial tripod when the V shoe is

attached

Specifications
Dimensions (W/H/D) Approx. 130 x 33 x 250 mm (5 '/s X 1°/16 X 9 ’/s inches)
Mass Approx. 920 g (2 Ib 0.45 0z)

Operating Instructions (1), Tripod V shoe (2),
Screws (+K M4 x 8) (4), Screws (+B M3 x 8) (2)

Supplied items

Design and specifications are subject to change without notice.

Notes

e Always verify that the unit is operating properly before use. SONY WILL NOT
BE LIABLE FOR DAMAGES OF ANY KIND INCLUDING, BUT NOT LIMITED TO,
COMPENSATION OR REIMBURSEMENT ON ACCOUNT OF THE LOSS OF
PRESENT OR PROSPECTIVE PROFITS DUE TO FAILURE OF THIS UNIT, EITHER
DURING THE WARRANTY PERIOD OR AFTER EXPIRATION OF THE WARRANTY,
OR FOR ANY OTHER REASON WHATSOEVER.

e SONY WILL NOT BE LIABLE FOR CLAIMS OF ANY KIND MADE BY USERS OF
THIS UNIT OR MADE BY THIRD PARTIES.

e SONY WILL NOT BE LIABLE FOR THE TERMINATION OR DISCONTINUATION OF
ANY SERVICES RELATED TO THIS UNIT THAT MAY RESULT DUE TO
CIRCUMSTANCES OF ANY KIND.

Francais

Avant d'utiliser I'appareil, veuillez lire attentivement ce manuel et le conserver
pour future référence.

Le VCT-FSAS5 est un accessoire qui se fixe aux caméscopes SONY PMW-F55/F5
pour améliorer la stabilité de la caméra pendant le tournage. Il peut également
se fixer a I'attache de trépied VCT-14/VCT-U14 par le biais de la griffe en V pour
trépied fournie.

Nomenclature et fonctions des piéces

© Tiges 150
Utilisées pour fixer la matte box et les autres accessoires et suivre la mise au
point.

@ Griffe en V pour trépied
Composants nécessaires a la fixation de I'attache de trépied.

© Vis (+tK M4 x 8)

®

+KM4X8 —@ ®

¢——+BM3x8

O Leviers de verrouillage de tige (gauche et droit)
Utilisé lors de la fixation ou le retrait des tiges 150.
Tournez les leviers pour les verrouiller lors de la fixation des tiges. Si les tiges
sont dans une position qui les empéche de tourner facilement, tirez les leviers
sur les cotés et tournez-les dans une meilleure position avant de les pousser
de nouveau pour qu'ils continuent de tourner.

© Montages en rosette (gauche et droit)
Points de fixation pour les poignées génériques.
@ Vis (+B M3 x 8)
(7) Protége-épaule (type fixe)
Interchangeable avec la protection amovible en option. Pour les détails sur le

remplacement, consultez votre revendeur au point de vente de la protection
amovible.

Fixation a un caméscope

Alignez les vis de 'adaptateur d'épaule avec le pas de 25 mm (1 pouce) ou
50 mm (2 pouces), les montures de trépied 1/4-20UNC du caméscope, puis serrez
a fond (Figure [F)).

Remarque

Serrez a fond les deux vis.

Fixation sur I'attache pour trépied

Lors de l'installation d'une caméra sur I'attache pour trépied, fixez fermement la
griffe en V pour trépied a la base a I'aide des vis (Figure [§]-1).

Faites glisser la caméra le long de la rainure de I'attache pour trépied, jusqu’a
encliquetage (Figure [6]-2).

Dépose de la caméra de I'attache pour trépied

Appuyez et maintenez enfoncé le bouton rouge (D) puis faites glisser le levier
dans la direction indiquée par la fleche (@) (Figure b))

Si la goupille sur I'attache pour trépied ne revient pas a sa position normale
apres la dépose de la caméra, ré-appuyez et maintenez enfoncé le bouton, puis
faites glisser le levier dans la direction indiquée par la fleche pour faire revenir la
goupille a sa position originale. La caméra ne peut pas étre installée si la goupille
est a vue (Figure [@).

Fixation a un trépied en vente dans le commerce

Fixez la griffe en V pour trépied a I'appareil a I'aide des vis.
La caméra peut étre installée sur un trépied en vente dans le commerce lorsque
la griffe en V est fixée.

Dimensions (L/H/P) Environ 130 x 33 X 250 mm
(5'/8 % 1°/16 X 9 7/3 pouces)

Poids Environ 920 g (2 livres 0,45 onces)

Eléments fournis Mode d’emploi (1), Griffe en V pour trépied (2),
Vis (+K M4 x 8) (4), Vis (+B M3 x 8) (2)

La conception et les spécifications sont susceptibles d’étre modifiées sans
préavis.

Remarques

o Vérifiez toujours que I'appareil fonctionne correctement avant I'utilisation.
Sony n‘assumera pas de responsabilité pour les dommages de quelque
sorte qu'ils soient, incluant mais ne se limitant pas a la compensation ou
au remboursement, a cause de la perte de profits actuels ou futurs suite
a la défaillance de cet appareil, que ce soit pendant la période de
garantie ou aprés son expiration, ou pour toute autre raison quelle
qu’elle soit.

® Sony n‘assumera pas de responsabilité pour les réclamations, quelle
qu’elles soient, effectuées par les utilisateurs de cet appareil ou par des
tierces parties.

® Sony n‘assumera pas de responsabilité pour la cessation ou
I'interruption de tout service lié a cet appareil, résultant de quelque
circonstance que ce soit.




TN

Bitte lesen Sie dieses Handbuch vor der Benutzung des Gerats sorgfaltig durch
und bewahren Sie es zum spateren Nachschlagen auf.

Die VCT-FSAS5 ist ein Zubehorteil, das zur Verbesserung der Stabilitdt der Kamera
bei der Aufnahme an den Camcorder SONY PMW-F55/F5 angebracht wird. Sie
kann durch Anbringen des mitgelieferten V-Stativschuhs auch an einem
Stativadapter VCT-14/VCT-U14 befestigt werden.

Bezeichnung und Funktion der Teile

@ @15 Schienen
Zum Anbringen des Balgenkompendiums, der Scharfenzieheinrichtung und
anderer Zubehorteile.

@ V-Stativschuh
Erforderliche Komponente zur Befestigung an einem Stativadapter.

© Schrauben (+K M4 x 8)

(4) Schienen-Sperrhebel (links und rechts)
Wird beim Anbringen oder Entfernen der ®15 Schienen verwendet.
Drehen Sie die Hebel beim Anbringen der Schienen in die arretierte Posistion.
Wenn sich die Hebel in einer Position befinden, in der sie schwer zu drehen
sind, ziehen Sie diese seitlich heraus und drehen Sie sie in eine glinstigere
Position, ehe Sie sie zur weiteren Drehung wieder hineinschieben.

© Rosettenbefestigungspunkte (links und rechts)
Befestigungspunkte fiir die Allzweck-Handgriffe.

© Schrauben (+B M3 x 8)

@ Schulterpolster (fest)
Austauschbar mit optionalem beweglichen Polster. Informationen zum
Austausch erhalten Sie bei dem Handler, bei dem Sie das bewegliche Polster
erworben haben.

Anbringen an einem Camcorder

Richten Sie die Schrauben der Schulterstiitze an den 1/4-20UNC-Stativoffnungen
mit 25 mm oder 50 mm Abstand am Camcorder aus, und ziehen Sie diese dann
sicher fest (Abb. [£]).

Ziehen Sie die zwei Schrauben gut fest.

Anbringen an der Stativbefestigung

Wenn Sie eine Kamera am Stativ befestigen, sichern Sie den V-Stativschuh mit
den Schrauben an der unteren Oberfliche (Abb. [§-1).

Schieben Sie die Kamera an der Nut entlang nach vorne, bis sie horbar einrastet
(Abb. []-2).

Abnehmen von der Stativbefestigung

Halten Sie die rote Taste (D) gedriickt, und schieben Sie dann den Hebel in
Pfeilrichtung (@) (Abb. [3]).

Wenn der Stift fir die Stativbefestigung nach dem Abnehmen der Kamera nicht
automatisch in seine urspriingliche Position zuriickkehrt, halten Sie die Taste
erneut gedriickt, und schieben Sie den Hebel in Pfeilrichtung, um den Stift an
seine urspriingliche Position zuriick zu schieben. Die Kamera kann nicht montiert
werden, wenn der Stift hervor steht (Abb. [J).

Anbringen an eine handelsiiblichen Stativ

Bringen Sie den V-Stativschuh mit den Schrauben am Gerat an. Mit dem V-Schuh
kann die Kamera auf einem handelstiblichen Stativ montiert werden.

Abmessungen (B/H/T) ca. 130 x 33 x 250 mm

Gewicht ca.920g

Mitgelieferte Elemente Bedienungsanleitung (1), V-Stativschuh (2),
Schrauben (+K M4 x 8) (4), Schrauben (+B M3 x 8) (2)

Anderungen an Auslegung und technischen Daten vorbehalten.

Hinweise

® Bestatigen Sie vor dem Gebrauch immer, dass das Gerat richtig arbeitet.
SONY KANN KEINE HAFTUNG FUR SCHADEN JEDER ART, EINSCHLIESSLICH
ABER NICHT BEGRENZT AUF KOMPENSATION ODER ERSTATTUNG,
AUFGRUND VON VERLUST VON AKTUELLEN ODER ERWARTETEN PROFITEN
DURCH FEHLFUNKTION DIESES GERATS ODER AUS JEGLICHEM ANDEREN
GRUND, ENTWEDER WAHREND DER GARANTIEFRIST ODER NACH ABLAUF
DER GARANTIEFRIST, UBERNEHMEN.

® SONY KANN KEINE HAFTUNG FUR ANSPRUCHE JEDER ART VON DEN
BENUTZERN DIESES GERATS ODER VON DRITTER SEITE UBERNEHMEN.

® SONY KANN KEINE HAFTUNG FUR DIE BEENDIGUNG ODER EINSTELLUNG
VON DIENSTLEISTUNGEN BEZUGLICH DIESES GERATS GLEICH AUS WELCHEM
GRUND UBERNEHMEN.

Stift
Pernetto
Pasador

ki

Leggere attentamente questo manuale prima di utilizzare I'unita, e conservarlo
per riferimenti futuri.

L'appoggio a spalla VCT-FSA5 € un accessorio che, montato sulle videocamere
SONY PMW-F55/F5, consente di aumentare la stabilita delle riprese. Puo essere
fissato anche a un adattatore per treppiede VCT-14/VCT-U14 mediante la piastra
a V fornita.

Nome e funzione dei componenti

@ Aste 015
Consentono il montaggio di matte box, follow focus e altri accessori.

@ Piastraa V per treppiede
Componente necessario per il montaggio di un adattatore per treppiede.

© Viti (+K M4 x 8)

O Levette di blocco aste (sinistra e destra)
Si utilizza durante le operazioni di inserimento e rimozione delle aste ®15.
Ruotare le levette per bloccarle durante I'inserimento delle aste. Se la
posizione delle levette ne ostacola la rotazione, estrarre lateralmente le
levette e orientarle in una posizione migliore prima di premere nuovamente
su di esse per continuare la rotazione.

5] Supporti a rosetta (sinistra e destra)
Attacchi per maniglione generico.

@ Viti (+B M3 x 8)

@ Cuscinetto spalla (fisso)
Sostituibile con cuscinetti opzionali di tipo regolabile. Per ulteriori
informazioni sulla sostituzione, consultare il rivenditore al momento
dell'acquisto del cuscinetto regolabile.

Montaggio dell’adattatore per treppiede

Allineare le viti dell'appoggio a spalla con gli attacchi per treppiede passo 25 mm
0 50 mm, 1/4-20UNC della videocamera, quindi serrare saldamente (Figura E]).

Serrare saldamente le due viti.

Fissaggio sull’adattatore per treppiede

Se si desidera montare la videocamera su un adattatore per treppiede, fissare
saldamente la piastra a V al lato inferiore dell'appoggio servendosi delle apposite
viti (Figura [&-1).

Fare scorrere la videocamera lungo la scanalatura fino a quando non scatta in
posizione (Figura [6-2).

Sgancio dall’adattatore per treppiede

Mantenere premuto il pulsante rosso (D), quindi spostare la levetta nella
direzione della freccia (@) (Figura b))

Qualora il pernetto dell’adattatore per treppiede non ritornasse alla sua
posizione originale dopo la rimozione della videocamera, premere di nuovo il
pulsante e mantenerlo premuto spostando allo stesso tempo la levetta nella
direzione della freccia per riportare il pernetto nella sua posizione originale. La
videocamera non puo essere montata se il pernetto rimane in posizione
sollevata (Figura [=).

Montaggio su un treppiede standard disponibile

in commercio

Fissare la piastra a V per treppiede servendosi delle viti.
Dopo aver fissato la piastra a V, la videocamera potra essere montata su un
treppiede standard disponibile in commercio.

Caratteristiche tecniche

Dimensioni (L/A/P) Circa 130 x 33 x 250 mm

Massa Circa920g

Elementi forniti in dotazione Istruzioni per l'uso (1), Piastra a V per treppiede (2),
Viti (+K M4 x 8) (4), Viti (+B M3 x 8) (2)

Disegno e caratteristiche tecniche soggetti a modifiche senza preavviso.

+K M4x8 —-@4 ®

(&

¢——+BM3x8

Note

o Verificare sempre che I'apparecchio stia funzionando correttamente prima di
usarlo. LA SONY NON SARA RESPONSABILE DI DANNI DI QUALSIASI TIPO,
COMPRESI, MA SENZA LIMITAZIONE A, RISARCIMENTI O RIMBORSI A CAUSA
DELLA PERDITA DI PROFITTI ATTUALI O PREVISTI DOVUTA A GUASTI DI
QUESTO APPARECCHIO, SIA DURANTE IL PERIODO DI VALIDITA DELLA
GARANZIA SIA DOPO LA SCADENZA DELLA GARANZIA, O PER QUALUNQUE
ALTRA RAGIONE.

® SONY NON SARA RESPONSABILE PER RICHIESTE O RICORSI DI NESSUN TIPO
PRESENTATI DA UTENTI DI QUESTO APPARATO O DA TERZI.

® SONY NON SARA RESPONSABILE PER LA CANCELLAZIONE O LA MANCATA
CONTINUAZIONE PER QUALSIASI CAUSA O CIRCOSTANZA DI SERVIZI
CORRELATI A QUESTO APPARATO.

Antes de poner en funcionamiento la unidad, lea detenidamente este manual y
consérvelo para referencias futuras.

EI VCT-FSA5 es un accesorio que se fija en la videocamara SONY PMW-F55/F5
para mejorar la estabilidad de la cdmara al grabar. También se puede colocar al
soporte para el tripode VCT-14/VCT-U14 al colocarlo en la zapata V del tripode
suministrado.

Nombre y funcion de los componentes

© varillas de 150
Utilicelas para fijar el portafiltros, sequido del enfoque y de otros accesorios.

@ ZapataV del tripode
Componentes necesarios para colocar en un soporte para tripode.

© Tornillos (+K M4 x 8)

O Palancas de bloqueo de la varilla (izquierda y derecha)
Se utiliza para colocar o extraer varillas de 150.
Gire las palancas para bloquearlas cuando coloque las varillas. Cuando las
palancas se encuentren en una posicion en las que sea dificil girarlas,
extréigalas hacia un lado y girelas a una posicion mejor antes de empujarlas
para continuar girandolas.

© Monturas de roseta (izquierda y derecha)
Puntos de acoplamiento para empunaduras genéricas.

O Tornillos (+B M3 x 8)
@ Almohadilla para el hombro (de tipo fijo)
Intercambiable con una almohadilla de tipo movil opcional. Para obtener mas

detalles acerca del cambio de almohadillas, péngase en contacto con el
distribuidor del punto de venta en el que adquirié la almohadilla mévil.

Montaje en una videocamara

Alinee los tornillos del adaptador para el hombro con un ancho de 25 mm o
50 mm, orificios del tripode 1/4-20UNC de la videocdmara y, a continuacion,
apriételos firmemente (Figura E).

Apriete los tornillos con fuerza.

Montaje en el soporte para tripode

Si coloca una camara en el soporte para el tripode, fije la zapata V del tripode en la
parte inferior utilizando los tornillos (Figura «-1).
Deslice la cdmara hacia delante sobre la ranura hasta que se escuche un clic (Figura

[-2).

Desmontaje del soporte para tripode

Mantenga pulsado el botén rojo (D) y, a continuacion, deslice la palanca en la
direccion de la flecha (®) (Figura [B)).

Si el pasador del soporte para tripode no vuelve a colocarse en su posicién original
tras desmontar la cdmara, mantenga pulsado el botén otra vez y deslice la palanca
en direccién a la flecha para que el pasador vuelva a su posicion original. La
camara no puede acoplarse si el pasador continta expuesto (Figura [&H).

Montaje en un tripode comercial

Acople la zapata del tripode V a la unidad mediante el uso de los tornillos.
La camara puede montarse sobre un tripode comercial siempre que la zapata V
esté acoplada.

Especificaciones

Dimensiones (an/al/pr) Aprox. 130 x 33 X 250 mm

Peso Aprox.920g

Accesorios suministrados Manual de instrucciones (1), Zapata V del tripode (2),
Tornillos (+K M4 x 8) (4), Tornillos (+B M3 x 8) (2)

Disefo y especificaciones sujetos a cambios sin previo aviso.

Notas

e Verifique siempre que esta unidad funciona correctamente antes de
utilizarlo. SONY NO SE HACE RESPONSABLE POR DANOS DE NINGUN TIPO,
INCLUYENDO PERO NO LIMITADO A LA COMPENSACION O PAGO POR LA
PERDIDA DE GANANCIAS PRESENTES O FUTURAS DEBIDO AL FALLO DE ESTA
UNIDAD, YA SEA DURANTE LA VIGENCIA DE LA GARANTIA O DESPUES DEL
VENCIMIENTO DE LA GARANTIA NI POR CUALQUIER OTRA RAZON.

® SONY NO SE HACE RESPONSABLE POR RECLAMACIONES DE NINGUN TIPO
REALIZADAS POR USUARIOS DE ESTA UNIDAD O POR TERCEROS.

® SONY NO SE HACE RESPONSABLE DE LA FINALIZACION NI DE LA
INTERRUPCION, POR LA CIRCUNSTANCIA QUE FUERA, DE CUALQUIER
SERVICIO RELACIONADO CON ESTA UNIDAD.

C-2

X
MERTR: BitEkc=s
ERFmANFTHEARAERRESR, HFERERE.

XTEFF-miE

TR RS S — AR — R R E.

I AE BRI A BT S T PR RN 2K R Rl 7 1Y B
=

HARFI LT 121 805 4 o R R R

VCT-FSASZ—FhiE B SONY PMW-F55/Fo4E &G, B Fikssd
BRHB AR e M. i E AN I = 2AVEL S, TR S
VCT-14/VCT-U14 = BHIZE

BRI RFI TN BE A
© o 15F BT
F Tt ). IREERS DA R A pf 4
O = HIZeVAEH
TR = AR A TR AR
O 24T (+K M4X8)
O EEZTPIER (ZFA)
B R o 15 &S .
TERLERATI, B ES S .. YBUE T TeiE e
I ER, SRR e, BFEERIIREMNE, AEH
B HAfE | LB AR ShER:
O EEED (ZffA)
T F I E R
O 1257 (4B M3x8)
QB (BER)
Al SRR A B R B, BAERIFEAEE, EEIK
TSR] 7% 3 B JE B A 28

EREZEV

B E 2R 84T 5L Y25 mnal50 mmiE BRI 1/4-20UNC = BIZE4EFL

xt5F, REEEFE (BERD .

B3

T8 2 [E 7 S 1 W AT
EEE = 2R

UGN e85 =R I, IS IBET I = 22V S ) 2

ZhemEmE (EE-1) .
INEME AT S RGN, EEE R (HM-2) .

5 = BZR M 4l FF i 2

i (@) | AR (@) wAwiEr (EED .
E3

ISR 5 3RS L5 B R I B RSB I RV A LR, TR

PRI AL TT MRS BUEN, EEHREZYGME. W
SR BB, Wk Es (AR -

EZE =R
FOFIRRET 4 = AV E R i
TEREREVILIG , (AT BEIR L% i P = L

R~ (T/&/E) 29130 X 33 X 250 mm

g4 27920 ¢
(Ras SEHEHET (1) . ZHZEVEEE (2) .

WEET (4K M4 X< 8) (4) . 4847 (4B M3x8) (2)
BT RIS EZE, BRBIT@E.

IE=S

* EHRTEREHINAPETIES
ZERIEMARINNETEFER, SONIHERBABMARR. A
FANBFEEMM A B RRKTAFDIFRKL, ~MF (BFEERR
F) BEEIEE.

* SONYXY A= mAFPERE=AHEMNRBRA AR,

* SONYXJEEMIER SBL L EILERAAHBEXRSMA SR

HARBHA: 2013%F1H

BEVEDEIF

[V =SB REEERERODCRAL ICH RO
VZI—#AM T108-0075 HEEGBXER1-7-1

COHBPZR. BERZFEALTVET.
Printed on recycled paper.

http://www.sony.net/



